Q1.  Cut out all the boxes and arrange them in order. 

	A bee carries the pollen to the stigma.


	One sperm fuses with the egg to form a seed.


	This process is termed double fertilization. 


	Two male nuclei make their journey down the pollen tube.


	The ovary enlarges to become a fruit.


	The other sperm fuses with female nuclei to form an embryo.


	Anthers produce pollen grains.


	A pollen tube is formed.


	A bird eats the fruit releasing the seed.


	The pollen tube carries the sperm to the ovule inside the ovary.


	Pollen grains are released from anthers.


	Pollination has taken place.


	The seed will grow to become a plant that produces flowers.   


Q2.  Arrange the following statements in order.

	A diploid cell duplicates all of its chromosomes. 


	This is known as the reduction division. 


	The process of meiosis starts in the gonads. 


	The diploid cell then divides into two cells.

	

	In gonads, sex cells start as diploid cells. 


	Four haploid cells are formed with ½ the number of chromosomes. 


	Homologous chromosomes separate as the cell divides. 


	The two chromatids in each haploid cell separate. 


	2 daughter cells are produced with ½ the number of chromosomes. 


Q3.  Write down the definitions of the following terms:

Homozygous:    

Heterozygous:  

Dominant gene:  

Recessive gene:   

Punnet square:  

Phenotype:  

Genotype:  

Q4.  A black cat mated with a red cat.  All of the offsprings were born black. 

a) determine the dominant characteristic (colour).

b) work out the genotypes of the offsprings(hint: use punnet square).

c) state the phenotype of the offsprings. 

Q5.  a red guinea pig is crossed with a white guinea pig.  The offsprings were all cream.  

a) state the type of inheritance in this instance.

b) what are the genotype/s of the offsprings?

c)  if one offspring mated with a white guinea, what is the chance of having a red pig?

Q6.  A pure normal individual carrying the gene A mates with an albino.  Given that albinism is a recessive condition, and carries the gene a, answer the following: 

a) determine the genotype of the albino individual.

b) determine the genotype of the normal individual.

c) determine the genotype of the offsprings. 

d) if two offsprings are crossed, determine:


i) the percentage of having an albino child.


ii) the percentage of having a normal child.


iii) the percentage of having a hybrid child.

e) if a heterozygous mates with an albino, what is the chance of having:


i) an albino child? 

ii) a normal child? 


iii) a hybrid child? 


iv) a pure normal child?

f) if a heterozygous mates with a pure normal person, what is the chance of having:


i) an albino child? 


ii) a normal child? 


iii) a hybrid child? 


iv) a pure normal child? 

Q7.  Draw a diagram illustrating the process of meiosis. Show the chromosomes in each cell. 
